1 1 1 1 1 1 1 1 1 1			BaseLine Item Detail	Carbro Constructors Corp.		Kyle Conti Construction, LLC		Mount Construction Co., Inc.		J. Fletcher Creamer & Son, Inc. & Joseph M. Sanzari, Inc. A Joint Venture		CRS Contractors Inc	
1.0 1.0	Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price L	ine Total	Unit Price Li	ne Total	Unit Price	Line Total l	Jnit Price	Line Total
100 100	1 104-0001	1.00 L.S.	Construction Layout	\$43,750.00	\$43,750.00	\$70,000.00	\$70,000.00	\$80,000.00	\$80,000.00	\$60,000.00	\$60,000.00	\$45,000.00	\$45,000.00
	2 104-0002	1.00 L.S.	Mobilization	\$417,000.00	\$417,000.00	\$742,947.50	\$742,947.50	\$406,418.50	\$406,418.50	\$430,000.00	\$430,000.00	\$440,000.00	\$440,000.00
\$ 2,000	3 107-0001	1.00 L.S.	Progress Schedule	\$35,500.00	\$35,500.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00
\$ 2,000	4 108-0001	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
\$2,000 \$	5 201-0002	1.00 L.S.	Clearing and Grubbing	\$265,000.00	\$265,000.00	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00	\$295,000.00	\$295,000.00	\$60,000.00	\$60,000.00
2-00-000 2-00-000	6 202-0002	3.300.00 C.Y.	Roadway Excavation, Earth	\$37.00	\$122.100.00		\$85.800.00						\$330,000.00
\$2,000.000 \$2,		•	•			•		1				* .	\$29,000.00
\$4,000 \$2,000 \$				·		•		· · · · · · · · · · · · · · · · · · ·		•			\$25,000.00
12 02 00 00 10 00 00 10		•	, ,	· ·		•		•		•		•	\$100,000.00
1.81 0000		•	,			•		1		•			\$2,400.00
12 De NINCE 12 De NINCE 12 De NINCE 12 De NINCE 13 DE NINCE			·							•			
14 15 15 15 15 15 15 15				· ·		•		•		•			\$6,750.00
13 000-0002 10 00 CV Course Authorised Lever 1500 1510 1520				· · · · · · · · · · · · · · · · · · ·		•		•		•		•	\$270,000.00
15 15 15 15 15 15 15 15				•	· ·							•	\$78,000.00
12 05 00		20.00 C.Y.	Coarse Aggregate Layer	•		•	\$2,500.00	•		•	· ·	•	\$2,600.00
12 00-001 12 00-001 12 00-001 12 00-001 13 0			RipRap Stone Aprons, 12in Thick(D50=6in)	· · · · · · · · · · · · · · · · · · ·		\$45.00		•		•		•	\$55,200.00
1908 1908	16 208-0008	4,800.00 L.F.	Heavy Duty Silt Fence	\$13.00	\$62,400.00	\$10.00	\$48,000.00	\$7.00	\$33,600.00	\$6.50	\$31,200.00	\$12.00	\$57,600.00
128-0021 1990.00 15 1990.00	17 208-0011	20.00 L.F.	Temporary Slope Drain	\$45.00	\$900.00	\$25.00	\$500.00	\$150.00	\$3,000.00	\$235.00	\$4,700.00	\$60.00	\$1,200.00
2008-0024 1.00	18 208-0013	60.00 L.F.	Floating Turbidity Barriers	\$150.00	\$9,000.00	\$24.00	\$1,440.00	\$90.00	\$5,400.00	\$25.00	\$1,500.00	\$60.00	\$3,600.00
27.08-MODI 2.00 bash Concrete without receilty 5900 54,0000 54,0000 54,0000 54,0000 54,0000 54,0000 52,200 52,200 52,200 52,000	19 208-0021	200.00 S.F.	Inlet Filter, Type 1	\$50.00	\$10,000.00	\$9.00	\$1,800.00	\$34.00	\$6,800.00	\$10.00	\$2,000.00	\$25.00	\$5,000.00
1208-MODI 200 Each Concrete Wilshord Facility 55000 54,00000 54,00000 54,00000 54,00000 54,00000 52,0000 52,2000 52,2000 52,2000 52,0000 50,00000 52,2000 52,2000 52,00000 50,00000 52,20000 52,20000 52,000000 52,00000 52,00000 52,00000 52,00000 52,00000 52,00000	20 208-0024	1,090.00 Ton	Construction Driveway	\$70.00	\$76,300.00	\$80.00	\$87,200.00	\$100.00	\$109,000.00	\$67.00	\$73,030.00	\$90.00	\$98,100.00
2208 https://doi.org/10.1016/j.sc/10.2016/	21 208-N0001	8.00 Each	Concrete Washout Facility	\$500.00	\$4.000.00	\$200.00	\$1.600.00	\$2.000.00		\$1.000.00	\$8.000.00	\$1.500.00	\$12,000.00
22.08-No.000 8.00 5em 0.000 6.000			•	· · · · · · · · · · · · · · · · · · ·		•							\$1,200.00
22.08-NO.03			•	· · · · · · · · · · · · · · · · · · ·		•				•		•	\$6,000.00
22.08+0001			, , , , , , , , , , , , , , , , , , , ,	· ·						• •		•	\$15,000.00
2711-0001 30,000 1,000													\$30,000.00
2711-0001 30.000 LT Temporary Orange Plant Lefence 516.00 \$48,000.00 \$50													
28 313 0002			•										\$80,000.00
29 30 30 30 30 30 30 30 3			. , .	·		•		-		•		•	\$2,400.00
33 303-1440002 1,03-0.00 \$7		•		·						•			\$87,500.00
31 302-0002 10.00 To Hot Mix Asphalt 125M6 Base Course 11.00 00 11.				•	· ·	•					•	•	\$1,080.00
33 302-0004		1,050.00 S.Y.		·		•	\$25,200.00	\$65.00		•			\$25,200.00
3 302-0063 1.000.00 USD Aghalt Price Adjustment (No-Bid) 51.00 \$1.	31 302-0002	10.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$140.00	\$1,400.00	\$120.00	\$1,200.00	\$800.00	\$8,000.00	\$220.00	\$2,200.00	\$500.00	\$5,000.00
34 302-0064 155.00 GAL Tack Cot 56.00 5990.00 51.00 51.05 51.05 51.05 51.00 51	32 302-0004	565.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$140.00	\$79,100.00	\$120.00	\$67,800.00	\$170.00	\$96,050.00	\$200.00	\$113,000.00	\$175.00	\$98,875.00
33 03-0001 30.00 S.Y. Berm surfacing, 3 inches Thick 513 0.00 53,900.00 56,000.00 58,000.00 58,000.00 36,000.00 36,000.00 36,000.00 37,000	33 302-0063	1,000.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
36 401-0004 1,000.00 18 Reinforcement Steel, Galvanized \$2.50 \$27,500.00 \$24,750.00 \$44,000.00 \$2,800.00 \$1,300.00 \$3,800.00 \$	34 302-0064	165.00 GAL	Tack Coat	\$6.00	\$990.00	\$1.00	\$165.00	\$1.00	\$165.00	\$1.00	\$165.00	\$8.00	\$1,320.00
34 040-0004 1,0000 0 1B Reinforcement Steel, Galvanized 52.50 \$27,500.00 \$2,255 \$24,750.00 \$34,000.00 \$2,800.00 \$3,000	35 303-0001	30.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$130.00	\$3,900.00	\$65.00	\$1,950.00	\$85.00	\$2,550.00	\$200.00	\$6,000.00	\$80.00	\$2,400.00
37 401-0012 40,00 C Y Concrete in Mingwall 52,200.00 588,000.00 51,000.00 54,000.00 54,000.00 54,000.00 51,930.00 577,200.00 51,000.00 38,000.00 3	36 401-0004	11.000.00 LB		\$2.50	\$27.500.00	\$2.25	\$24.750.00	\$4.00	\$44.000.00	\$2.80	\$30.800.00	\$3.00	\$33,000.00
38 401-0032 70.00 CF Concrete in Footings \$95.00 \$66,500.00 \$40.00 \$28,000.00 \$65,000.00 \$63,000.00 \$47,00.00 \$32,000.00 \$40.000 \$		•		· ·				· · · · · · · · · · · · · · · · · · ·					\$64,000.00
39 401-N00005 24,000 CF. Grout Grout S20,000 S4,000,000 S50,000 S14,000,000 S20,000 S14,000,000 S13,000,000 S13,000,			5										\$56,000.00
40 410-0001 3,000 S.Y. Damp-profing \$2.25.00 \$6,750.00 \$3,000.00 \$3,000.00 \$20.00 \$50.			5	•		•						•	\$31,200.00
41 415-0001 3,500.00 S.F. Temporary Sheeting \$0.01 \$35.00 \$51.00 \$3,500.00 \$50,000.00 \$5				·									
42 418-N0062								•	•				\$1,800.00
43 418-N0063													\$227,500.00
44 418-N0006													\$45,000.00
45 499-N0090 1.00 L.S. Temporary Cofferdam No. 2 550.00 550.00 550.00 525,000.00 525,000.00 515,000.00 515,000.00 510,700.00 510,700.00 518,000.00 518,000.00 519,000.00			•										\$4,000.00
46 499-N0091 1.00 L.S. Temporary Cofferdam No. 1	44 418-N0006		Temporary Support No. 1	\$52,000.00	\$52,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$5,000.00	\$5,000.00	\$45,000.00	\$45,000.00
47 499-N0093 175.00 LF. Install Steel Pipe Liner Location No. 2	45 499-N0090	1.00 L.S.	Temporary Cofferdam No. 2	\$500.00	\$500.00	\$25,000.00	\$25,000.00	\$150,000.00	\$150,000.00	\$10,700.00	\$10,700.00	\$18,000.00	\$18,000.00
48 499-N0094 185.00 LF. Install Steel Pipe Liner Location No. 1 (No-Bid) \$725.00 \$134,125.00 \$1,800.00 \$333,000.00 \$1,00 \$365,000.00 \$1.00	46 499-N0091	1.00 L.S.	Temporary Cofferdam No. 1	\$500.00	\$500.00	\$25,000.00	\$25,000.00	\$150,000.00	\$150,000.00	\$10,700.00	\$10,700.00	\$27,000.00	\$27,000.00
49 499-N0095 365,000.00 USD Furnish Steel Pipe Liner, Location No. 2 (No-Bid) \$1.00 \$365,000.00 \$1.00	47 499-N0093	175.00 L.F.	Install Steel Pipe Liner Location No. 2	\$725.00	\$126,875.00	\$1,800.00	\$315,000.00	\$1,935.00	\$338,625.00	\$2,050.00	\$358,750.00	\$810.00	\$141,750.00
49 499-N0095 365,000.00 USD Furnish Steel Pipe Liner, Location No. 2 (No-Bid) \$1.00 \$365,000.00 \$1.00	48 499-N0094	185.00 L.F.	Install Steel Pipe Liner Location No.1	\$725.00	\$134,125.00	\$1,800.00	\$333,000.00	\$1,935.00	\$357,975.00	\$2,050.00	\$379,250.00	\$950.00	\$175,750.00
50 499-N0096 385,000.00 USD Furnish Steel Pipe Liner, Location No. 1 (No-Bid) \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00 \$385,000.00 \$1.00													\$365,000.00
\$1 499-N0136 \$190,000.00 USD \$1 Furnish 66 Inch CCFRPM Pipe Location No. 1 (No-Bid) \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$190,000.00 \$1.00 \$1.00 \$1.00 \$190,000.00 \$1.00													\$385,000.00
52 499-N0137 200,000.00 USD Furnish 66 Inch CCFRPM Pipe Location No. 2 (No-Bid) \$1.00 \$200,000.00 \$200,000.00 \$200,000.00 \$100,000.00 <td></td> <td></td> <td>, , , , , , , , , , , , , , , , , , , ,</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$190,000.00</td>			, , , , , , , , , , , , , , , , , , , ,										\$190,000.00
53 499-N0139 12.00 L.F. Install 52 Inch Steel Pipe \$30.00 \$3,600.00 \$1,00.00 \$1,200.00 \$9,600.00 \$30,000.00 \$600.00 54 499-N0140 30,000.00 USD Furnish 52 Inch Steel Pipe (No-Bid) \$1.00 \$30,000.00 \$1.00 \$30,000.00 \$1.00 \$30,000.00 \$1.00 \$30,000.00 \$1.00 \$30,000.00 \$1.00			·										\$200,000.00
54 499-N0140 30,000.00 USD Furnish 52 Inch Steel Pipe (No-Bid) \$1.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$30,000.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.													\$7,200.00
55 502-0001 46.00 L.F. 12 Inch HDPE Pipe, Drainage \$80.00 \$3,680.00 \$75.00 \$3,450.00 \$5,520.00 \$68.00 \$3,128.00 \$160.00 \$6 502-0005 380.00 L.F. 15 in Reinforced Concrete Pipe, Class III \$160.00 \$60,800.00 \$76.00 \$28,880.00 \$11,520.00 \$90.00 \$12,960.00 \$250.00 \$36,000.00 \$200.00 \$200.00 \$12,000			·										
56 502-0005 380.00 L.F. 15 in Reinforced Concrete Pipe, Class III \$160.00 \$60,800.00 \$76.00 \$28,880.00 \$185.00 \$70,300.00 \$100.00 \$38,000.00 \$200.00 57 502-0006 144.00 L.F. 18 in Reinforced Concrete Pipe, Class III \$165.00 \$23,760.00 \$80.00 \$11,520.00 \$90.00 \$12,960.00 \$200.00 58 502-0008 112.00 L.F. 15 In Reinforced Concrete Pipe, Class V \$165.00 \$18,480.00 \$76.00 \$8,512.00 \$100.00 \$145.00 \$16,240.00 \$210.00			. , ,										\$30,000.00
57 502-0006 144.00 L.F. 18 in Reinforced Concrete Pipe, Class III \$165.00 \$23,760.00 \$80.00 \$11,520.00 \$90.00 \$12,960.00 \$250.00 \$36,000.00 \$220.00 58 502-0008 112.00 L.F. 15 In Reinforced Concrete Pipe, Class V \$165.00 \$18,480.00 \$76.00 \$8,512.00 \$100.00 \$11,200.00 \$145.00 \$16,240.00 \$210.00													\$7,360.00
58 502-0008 112.00 L.F. 15 In Reinforced Concrete Pipe, Class V \$165.00 \$18,480.00 \$76.00 \$8,512.00 \$100.00 \$11,200.00 \$145.00 \$16,240.00 \$210.00			• •										\$76,000.00
			• •	·									\$31,680.00
The second secon		112.00 L.F.	• •										\$23,520.00
59 502-0201 1.00 Each 12 Inch HDPE Flared End Section \$1,200.00 \$1,200.00 \$800.00 \$800.00 \$2,000.00 \$2,000.00 \$750.00 \$750.00 \$850.00	59 502-0201	1.00 Each	12 Inch HDPE Flared End Section	\$1,200.00	\$1,200.00	\$800.00	\$800.00	\$2,000.00	\$2,000.00	\$750.00	\$750.00	\$850.00	\$850.00
60 502-N0024 14.00 L.F. 38in x 60in Reinforced Elliptical Concrete Pipe, Class III \$300.00 \$4,200.00 \$4,550.00 \$1,000.00 \$14,000.00 \$500.00 \$7,000.00 \$800.00	60 502-N0024	14.00 L.F.	38in x 60in Reinforced Elliptical Concrete Pipe, Class III	\$300.00	\$4,200.00	\$325.00	\$4,550.00	\$1,000.00	\$14,000.00	\$500.00	\$7,000.00	\$800.00	\$11,200.00

Ba		BaseLine Item Detail	Carbro Constructors Corp.		Kyle Conti Construction, LLC		Mount Construction Co., Inc.		J. Fletcher Creamer & Son, Inc. & Joseph M. Sanzari, Inc. A Joint Venture		CRS Contractors Inc	
Item No. Unit Code (Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total			Unit Price	Line Total
61 502-N0025	2.00 Each	38in x 60in RECP Flared End Section	\$14,000.00	\$28,000.00	\$2,500.00	\$5,000.00	\$6,000.00	\$12,000.00	\$4,300.00	\$8,600.00	\$3,000.00	\$6,000.00
62 503-0003	2.00 Each	Inlet, Type D2	\$5,000.00	\$10,000.00	\$8,500.00	\$17,000.00	\$8,000.00	\$16,000.00	\$4,450.00	\$8,900.00	\$5,600.00	\$11,200.00
63 503-0011	1.00 Each	Manhole, Type P-1	\$3,800.00	\$3,800.00	\$9,600.00	\$9,600.00	\$6,800.00	\$6,800.00	\$5,100.00	\$5,100.00	\$7,000.00	\$7,000.00
64 503-0026	2.00 Each	New Inlet Frame & Grate, Type G2	\$4,300.00	\$8,600.00	\$2,100.00	\$4,200.00	\$1,700.00	\$3,400.00	\$1,630.00	\$3,260.00	\$1,500.00	\$3,000.00
65 503-0036	2.00 Each	Manhole, Type P-1 Doghouse	\$8,600.00	\$17,200.00	\$15,000.00	\$30,000.00	\$7,000.00	\$14,000.00	\$8,650.00	\$17,300.00	\$7,800.00	\$15,600.00
66 503-N0003	32.00 Each	Cleaning Existing Drainage Structures	\$250.00	\$8,000.00	\$240.00	\$7,680.00	\$375.00	\$12,000.00	\$250.00	\$8,000.00	\$250.00	\$8,000.00
67 503-0297	1.00 Each	Reconstructed Inlet, Type G2, Using New Grate and Frame	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$2,400.00	\$2,400.00	\$3,000.00	\$3,000.00
68 503-N0036	1.00 Each	Manhole, 8ft x 8ft with Type G2 Frame and Grate	\$30,000.00	\$30,000.00	\$23,000.00	\$23,000.00	\$50,000.00	\$50,000.00	\$36,000.00	\$36,000.00	\$20,500.00	\$20,500.00
69 503-N0037	1.00 Each	Manhole, 8ft x 8ft with Frame and Cover	\$30,000.00	\$30,000.00	\$22,500.00	\$22,500.00	\$50,000.00	\$50,000.00	\$22,500.00	\$22,500.00	\$20,000.00	\$20,000.00
70 505-0002	1.00 Each	Asphalt Concrete Lip Curb Inlet	\$3,000.00	\$3,000.00	\$700.00	\$700.00	\$5,200.00	\$5,200.00	\$2,300.00	\$2,300.00	\$1,000.00	\$1,000.00
71 510-0001	550.00 L.F.	Beam Guide Rail	\$97.00	\$53,350.00	\$80.00	\$44,000.00	\$90.00	\$49,500.00	\$68.00	\$37,400.00	\$90.00	\$49,500.00
72 510-0005	25.00 L.F.	Beam Guide Rail Element	\$49.00	\$1,225.00	\$40.00	\$1,000.00	\$45.00	\$1,125.00	\$50.00	\$1,250.00	\$46.00	\$1,150.00
73 510-0011	3.00 Each	Beam Guide Rail Anchorage	\$5,300.00	\$15,900.00	\$4,500.00	\$13,500.00	\$5,000.00	\$15,000.00	\$1,750.00	\$5,250.00	\$5,000.00	\$15,000.00
74 510-0018	1.00 Each	Tangent Guide Rail Terminal	\$8,600.00	\$8,600.00	\$7,500.00	\$7,500.00	\$8,500.00	\$8,500.00	\$4,700.00	\$4,700.00	\$8,000.00	\$8,000.00
75 510-0031	600.00 L.F.	Removal of Beam Guide Rail	\$0.01	\$6.00	\$3.00	\$1,800.00	\$1.00	\$600.00	\$9.00	\$5,400.00	\$5.00	\$3,000.00
76 515-0003	1.00 Each	Delineator, Type PA-W	\$137.00	\$137.00	\$125.00	\$125.00	\$130.00	\$130.00	\$115.00	\$115.00	\$125.00	\$125.00
77 515-0005	6.00 Each	Delineator, Type GA-Y	\$137.00	\$822.00	\$125.00	\$750.00	\$150.00	\$900.00	\$115.00	\$690.00	\$125.00	\$750.00
78 515-0006	4.00 Each	Delineator, Type PA-Y	\$137.00	\$548.00	\$125.00	\$500.00	\$150.00	\$600.00	\$115.00	\$460.00	\$125.00	\$500.00
79 515-0007	7.00 Each	Delineator, Type GA-W	\$137.00	\$959.00	\$125.00	\$875.00	\$130.00	\$910.00	\$115.00	\$805.00	\$125.00	\$875.00
80 517-0002	1.00 L.S.	Furnish Field Office, Type B	\$60,550.00	\$60,550.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
81 517-0008	20.00 Mnth	• ••	\$500.00	\$10,000.00	\$2,000.00	\$40,000.00	\$2,800.00	\$56,000.00	\$3,400.00	\$68,000.00	\$4,500.00	\$90,000.00
82 517-0013	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
83 522-0001	12.00 Each	Test Pits	\$500.00	\$6,000.00	\$700.00	\$8,400.00	\$425.00	\$5,100.00	\$400.00	\$4,800.00	\$1,500.00	\$18,000.00
84 523-0003	4,565.00 L.F.	Clean Existing Storm Drain, 12 in. to 24 in. Diameter	\$6.00	\$27,390.00	\$7.00	\$31,955.00	\$7.00	\$31,955.00	\$6.00	\$27,390.00	\$6.00	\$27,390.00
85 523-0005	400.00 L.F.	Clean Existing Storm Drain, 12 iii. to 24 iii. Diameter	\$13.00	\$5,200.00	\$13.00	\$5,200.00	\$30.00	\$12,000.00	\$12.50	\$5,000.00	\$12.00	\$4,800.00
86 523-0007	460.00 L.F.	Clean Existing Storm Drain, 27m to 45m Diameter	\$22.00	\$10,120.00	\$22.00	\$10,120.00	\$30.00	\$13,800.00	\$22.00	\$10,120.00	\$22.00	\$10,120.00
87 523-N0003	370.00 L.F.	Heavy Pipe Cleaning	\$160.00	\$59,200.00	\$67.00	\$24,790.00	\$350.00	\$129,500.00	\$5.00	\$1,850.00	\$65.00	\$24,050.00
	350,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00
	250,000.00 USD	Force Account for Drainage Repairs (No-Bid)	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00
90 534-N0006	230.00 L.F.	74 Inch Trenchless Installation Location No. 2	\$5,750.00	\$1,322,500.00	\$5,000.00	\$1,150,000.00	\$2,800.00	\$644,000.00	\$5,550.00	\$1,276,500.00	\$5,200.00	\$1,196,000.00
91 534-N0008	214.00 L.F.	74 Inch Trenchless Installation Location No. 1	\$4,225.00	\$904,150.00	\$5,000.00	\$1,070,000.00	\$2,700.00	\$577,800.00	\$5,550.00	\$1,270,300.00	\$5,200.00	\$1,112,800.00
	150,000.00 USD	Polyurethane Grout (No-Bid)	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$3,200.00	\$150,000.00
	200,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00
94 703-0001	8,500.00 S.Y.	Topsoil	\$5.00	\$42,500.00	\$3.00	\$25,500.00	\$2.50	\$21,250.00	\$7.00	\$59,500.00	\$6.75	\$57,375.00
95 704-0001	6,770.00 S.Y.	Seeding, Type A	\$1.70	\$11,509.00	\$1.50	\$10,155.00	\$1.75	\$11,847.50	\$3.00	\$20,310.00	\$2.85	\$19,294.50
96 704-0001	870.00 S.Y.	Seeding, Type B	\$2.50	\$2,175.00	\$2.25	\$1,957.50	\$2.50	\$2,175.00	\$3.00	\$2,610.00	\$2.85	\$2,479.50
97 704-0005	315.00 S.Y.	Seeding, Type W	\$3.80	\$1,197.00	\$3.50	\$1,102.50	\$3.50	\$1,102.50	\$4.70	\$1,480.50	\$4.40	\$1,386.00
98 705-0012		Planting, Bayberry (Myrica Pennsylvania)	\$33.00	\$1,122.00	\$30.00	\$1,020.00	\$30.00	\$1,020.00	\$33.00	\$1,480.30	\$32.00	\$1,088.00
	33.00 Each	Planting, Shadbush Serviceberry (Amelanchier Canadensis)		\$1,089.00	\$30.00		\$30.00		\$40.00			\$1,254.00
99 705-0017 100 705-0019	1.00 Each	Planting, Sycamore (Platanus Occidentalis)	\$33.00 \$440.00	\$440.00	\$400.00	\$990.00 \$400.00	\$425.00	\$990.00 \$425.00	\$300.00	\$1,320.00 \$300.00	\$38.00 \$285.00	\$1,234.00
101 706-0001	825.00 S.Y.	Permanent Soil Stabilization Matting	\$7.00	\$5,775.00	\$4.50	\$3,712.50	\$5.00	\$4,125.00	\$300.00	\$5,775.00	\$6.50	\$5,362.50
102 706-0002	800.00 S.Y.	Temporary Soil Stabilization Matting	\$7.00 \$7.00	\$5,600.00	\$3.50	\$2,800.00	\$4.00	\$3,200.00	\$4.50	\$3,600.00	\$4.50	\$3,600.00
103 801-0001	1.00 L.S.	Furnishing Traffic Control Devices	\$152,625.00	\$152,625.00	\$300,000.00	\$300,000.00	\$75,000.00	\$75,000.00	\$200,000.00	\$200,000.00	\$120,000.00	\$120,000.00
104 801-0001	1,905.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$132,023.00	\$32,385.00	\$10.00	\$19,050.00	\$40.00	\$76,200.00	\$37.00	\$70,485.00	\$50.00	\$95,250.00
105 801-0003	1,905.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$45.00	\$85,725.00	\$10.00	\$19,050.00	\$100.00	\$190,500.00	\$53.00	\$100,965.00	\$55.00	\$104,775.00
106 801-0009	6.00 Each	Furnishing Portable Variable Message Sign	\$500.00	\$3,000.00	\$800.00	\$4,800.00	\$30,000.00	\$180,000.00	\$3,675.00	\$22,050.00	\$8,000.00	\$48,000.00
107 801-0018	4.00 Each	Furnishing Temporary Impact Attenuator (Array), 70 MPH	\$5,000.00	\$20,000.00	\$3,000.00	\$12,000.00	\$17,000.00	\$68,000.00	\$5,400.00	\$21,600.00	\$6,000.00	\$24,000.00
108 801-0019	4.00 Each	Placing and Removing Temporary Impact Attenuator (Array), 70 MPH	\$500.00	\$2,000.00	\$700.00	\$2,800.00	\$4,000.00	\$16,000.00	\$700.00	\$2,800.00	\$7,500.00	\$30,000.00
109 801-0020	20.00 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$300.00	\$6,000.00	\$100.00	\$2,000.00	\$500.00	\$10,000.00	\$400.00	\$8,000.00	\$300.00	\$6,000.00
110 801-0021	5.00 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$10,000.00	\$50,000.00	\$1,000.00	\$5,000.00	\$12,500.00	\$62,500.00	\$14,500.00	\$72,500.00	\$30,000.00	\$150,000.00
111 801-0022	5.00 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$3,000.00	\$15,000.00	\$700.00	\$3,500.00	\$800.00	\$4,000.00	\$2,600.00	\$13,000.00	\$6,000.00	\$30,000.00
112 801-0023	4.00 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$1,650.00	\$6,600.00	\$1,575.00	\$6,300.00	\$1,500.00	\$6,000.00
113 803-0032	40,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
114 803-N0001	1.00 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$26,100.00	\$26,100.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$18,000.00	\$18,000.00	\$120,000.00	\$120,000.00
115 705-0306	150.00 M.G.	Watering for Planting	\$110.00	\$16,500.00	\$50.00	\$7,500.00	\$100.00	\$15,000.00	\$1.00	\$150.00	\$300.00	\$45,000.00
				\$7,828,594.00		\$7,878,787.00		\$8,471,618.50		\$8,642,470.50		\$8,749,744.50

Letting Date: 10/21/2021

		BaseLine Item Detail	Roman E&G Corp.		JR Cru	z Corp.	Ritacco Construction, Inc.	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
1 104-0001	1.00 L.S.	Construction Layout	\$30,000.00	\$30,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
2 104-0002	1.00 L.S.	Mobilization	\$500,000.00	\$500,000.00	\$524,498.00	\$524,498.00	\$600,000.00	\$600,000.00
3 107-0001	1.00 L.S.	Progress Schedule	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00	\$15,000.00	\$15,000.00
4 108-0001	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
5 201-0002	1.00 L.S.	Clearing and Grubbing	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00
6 202-0002	3,300.00 C.Y.	Roadway Excavation, Earth	\$40.00	\$132,000.00	\$60.00	\$198,000.00	\$65.00	\$214,500.00
7 202-0007	580.00 C.Y.	Stripping Topsoil	\$15.00	\$8,700.00	\$40.00	\$23,200.00	\$20.00	\$11,600.00
8 202-0009	25,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
9 203-0001	2,000.00 C.Y. 30.00 C.Y.	Embankment, Common Embankment, Grade A	\$10.00	\$20,000.00	\$60.00 \$75.00	\$120,000.00 \$2,250.00	\$45.00	\$90,000.00 \$1,800.00
10 203-0002 11 203-0004	75.00 C.Y.	Porous Fill	\$100.00 \$150.00	\$3,000.00 \$11,250.00	\$75.00 \$150.00	\$11,250.00	\$60.00 \$60.00	\$4,500.00
12 203-N0002	900.00 C.Y.	Controlled Low Strength Material	\$180.00	\$162,000.00	\$250.00	\$225,000.00	\$50.00	\$45,000.00
13 205-0001	650.00 C.Y.	Foundation Excavation	\$50.00	\$32,500.00	\$60.00	\$39,000.00	\$55.00	\$35,750.00
14 205-0002	20.00 C.Y.	Coarse Aggregate Layer	\$70.00	\$1,400.00	\$190.00	\$3,800.00	\$60.00	\$1,200.00
15 207-0004	480.00 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$130.00	\$62,400.00	\$125.00	\$60,000.00	\$80.00	\$38,400.00
16 208-0008	4,800.00 L.F.	Heavy Duty Silt Fence	\$8.00	\$38,400.00	\$10.00	\$48,000.00	\$8.00	\$38,400.00
17 208-0011	20.00 L.F.	Temporary Slope Drain	\$200.00	\$4,000.00	\$60.00	\$1,200.00	\$40.00	\$800.00
18 208-0013	60.00 L.F.	Floating Turbidity Barriers	\$12.00	\$720.00	\$125.00	\$7,500.00	\$30.00	\$1,800.00
19 208-0021	200.00 S.F.	Inlet Filter, Type 1	\$150.00	\$30,000.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00
20 208-0024	1,090.00 Ton	Construction Driveway	\$64.00	\$69,760.00	\$160.00	\$174,400.00	\$30.00	\$32,700.00
21 208-N0001	8.00 Each	Concrete Washout Facility	\$2,000.00	\$16,000.00	\$5,000.00	\$40,000.00	\$1,000.00	\$8,000.00
22 208-N0002	12.00 Each	Sediment Control Bags	\$150.00	\$1,800.00	\$200.00	\$2,400.00	\$700.00	\$8,400.00
23 208-N0009	8.00 Each	Oil-Only Emergency Spill Kit, Type 1	\$1,225.00	\$9,800.00	\$225.00	\$1,800.00	\$400.00	\$3,200.00
24 208-N0013	1.00 L.S.	Stream Diversion Culvert - Location No. 1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$275,000.00	\$275,000.00
25 208-N0014	1.00 L.S.	Stream Diversion Culvert - Location No. 2	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$275,000.00	\$275,000.00
26 210-0001 27 211-0001	1.00 L.S. 300.00 L.F.	Demolition of Existing Structures	\$100,000.00	\$100,000.00	\$15,000.00	\$15,000.00 \$3,000.00	\$35,000.00	\$35,000.00
28 213-0002	1,750.00 Ton	Temporary Orange Plastic Fence Disposal of Regulated Material	\$5.00 \$64.00	\$1,500.00 \$112,000.00	\$10.00 \$50.00	\$87,500.00	\$5.00 \$55.00	\$1,500.00 \$96,250.00
29 301-0002	60.00 S.Y.	Aggregate Base Course, 6in Thick	\$13.00	\$780.00	\$75.00 \$75.00	\$4,500.00	\$20.00	\$1,200.00
30 301-N0002	1,050.00 S.Y.	Aggregate Base Course, 8 in Thick	\$25.00	\$26,250.00	\$100.00	\$105,000.00	\$50.00	\$52,500.00
31 302-0002	10.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$600.00	\$6,000.00	\$400.00	\$4,000.00	\$400.00	\$4,000.00
32 302-0004	565.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$125.00	\$70,625.00	\$200.00	\$113,000.00	\$200.00	\$113,000.00
33 302-0063	1,000.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
34 302-0064	165.00 GAL	Tack Coat	\$6.00	\$990.00	\$10.00	\$1,650.00	\$10.00	\$1,650.00
35 303-0001	30.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$90.00	\$2,700.00	\$300.00	\$9,000.00	\$70.00	\$2,100.00
36 401-0004	11,000.00 LB	Reinforcement Steel, Galvanized	\$3.50	\$38,500.00	\$3.00	\$33,000.00	\$2.50	\$27,500.00
37 401-0012	40.00 C.Y.	Concrete in Wingwall	\$2,000.00	\$80,000.00	\$2,400.00	\$96,000.00	\$1,750.00	\$70,000.00
38 401-0032	70.00 C.Y.	Concrete In Footings	\$500.00	\$35,000.00	\$2,250.00	\$157,500.00	\$1,000.00	\$70,000.00
39 401-N0005	240.00 C.F.	Grout	\$100.00	\$24,000.00	\$60.00	\$14,400.00	\$50.00	\$12,000.00
40 410-0001	30.00 S.Y.	Damp-proofing	\$48.00	\$1,440.00	\$400.00	\$12,000.00	\$80.00	\$2,400.00
41 415-0001	3,500.00 S.F.	Temporary Sheeting	\$1.00	\$3,500.00	\$10.00	\$35,000.00	\$10.00	\$35,000.00
42 418-N0062	1.00 L.S.	Temporary Support No. 2	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00
43 418-N0063	1.00 C.Y.	Concrete In Structures, Headwalls	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
44 418-N0006 45 499-N0090	1.00 L.S. 1.00 L.S.	Temporary Support No. 1 Temporary Cofferdam No. 2	\$50,000.00 \$10,000.00	\$50,000.00 \$10,000.00	\$50,000.00 \$50,000.00	\$50,000.00 \$50,000.00	\$100,000.00 \$80,000.00	\$100,000.00 \$80,000.00
46 499-N0091	1.00 L.S.	Temporary Cofferdam No. 1	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$80,000.00	\$80,000.00
47 499-N0093	175.00 L.F.	Install Steel Pipe Liner Location No. 2	\$1,545.00	\$270,375.00	\$1,225.00	\$214,375.00	\$4,000.00	\$700,000.00
48 499-N0094	185.00 L.F.	Install Steel Pipe Liner Location No.1	\$1,545.00	\$285,825.00	\$1,225.00	\$226,625.00	\$4,000.00	\$740,000.00
49 499-N0095		Furnish Steel Pipe Liner, Location No. 2 (No-Bid)	\$1.00	\$365,000.00	\$1.00	\$365,000.00	\$1.00	\$365,000.00
50 499-N0096	•	Furnish Steel Pipe Liner, Location No. 1 (No-Bid)	\$1.00	\$385,000.00	\$1.00	\$385,000.00	\$1.00	\$385,000.00
51 499-N0136	190,000.00 USD	Furnish 66 Inch CCFRPM Pipe Location No. 1 (No-Bid)	\$1.00	\$190,000.00	\$1.00	\$190,000.00	\$1.00	\$190,000.00
52 499-N0137	200,000.00 USD	Furnish 66 Inch CCFRPM Pipe Location No. 2 (No-Bid)	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00
53 499-N0139	12.00 L.F.	Install 52 Inch Steel Pipe	\$450.00	\$5,400.00	\$1,200.00	\$14,400.00	\$200.00	\$2,400.00
54 499-N0140	30,000.00 USD	Furnish 52 Inch Steel Pipe (No-Bid)	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
55 502-0001	46.00 L.F.	12 Inch HDPE Pipe, Drainage	\$125.00	\$5,750.00	\$300.00	\$13,800.00	\$60.00	\$2,760.00
56 502-0005	380.00 L.F.	15 in Reinforced Concrete Pipe, Class III	\$170.00	\$64,600.00	\$300.00	\$114,000.00	\$150.00	\$57,000.00
57 502-0006	144.00 L.F.	18 in Reinforced Concrete Pipe, Class III	\$150.00	\$21,600.00	\$550.00	\$79,200.00	\$160.00	\$23,040.00
58 502-0008	112.00 L.F.	15 In Reinforced Concrete Pipe, Class V	\$150.00	\$16,800.00	\$400.00	\$44,800.00	\$155.00	\$17,360.00
59 502-0201	1.00 Each	12 Inch HDPE Flared End Section	\$330.00	\$330.00	\$300.00	\$300.00	\$700.00	\$700.00
60 502-N0024	14.00 L.F.	38in x 60in Reinforced Elliptical Concrete Pipe, Class III	\$300.00	\$4,200.00	\$1,300.00	\$18,200.00	\$300.00	\$4,200.00

BaseLir		BaseLine Item Detail	Roman E&G Corp.		JR Cru	ız Corp.	Ritacco Construction, Inc.		
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	
61 502-N0025	2.00 Each	38in x 60in RECP Flared End Section	\$5,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$3,000.00	\$6,000.00	
62 503-0003	2.00 Each	Inlet, Type D2	\$5,500.00	\$11,000.00	\$10,000.00	\$20,000.00	\$6,000.00	\$12,000.00	
63 503-0011	1.00 Each	Manhole, Type P-1	\$6,500.00	\$6,500.00	\$10,000.00	\$10,000.00	\$5,500.00	\$5,500.00	
64 503-0026	2.00 Each	New Inlet Frame & Grate, Type G2	\$1,100.00	\$2,200.00	\$1,500.00	\$3,000.00	\$4,500.00	\$9,000.00	
65 503-0036	2.00 Each	Manhole, Type P-1 Doghouse	\$15,000.00	\$30,000.00	\$25,000.00	\$50,000.00	\$5,500.00	\$11,000.00	
66 503-N0003	32.00 Each	Cleaning Existing Drainage Structures	\$1,100.00	\$35,200.00	\$575.00	\$18,400.00	\$300.00	\$9,600.00	
67 503-0297	1.00 Each	Reconstructed Inlet, Type G2, Using New Grate and Frame	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$3,000.00	\$3,000.00	
68 503-N0036	1.00 Each	Manhole, 8ft x 8ft with Type G2 Frame and Grate	\$70,000.00	\$70,000.00	\$150,000.00	\$150,000.00	\$40,000.00	\$40,000.00	
69 503-N0037		Manhole, 8ft x 8ft with Frame and Cover	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	
70 505-0002	1.00 Each	Asphalt Concrete Lip Curb Inlet	\$330.00	\$330.00	\$5,000.00	\$5,000.00	\$700.00	\$700.00	
71 510-0001	550.00 L.F.	Beam Guide Rail	\$110.00	\$60,500.00	\$110.00	\$60,500.00	\$80.00	\$44,000.00	
72 510-0005	25.00 L.F.	Beam Guide Rail Element	\$55.00	\$1,375.00	\$55.00	\$1,375.00	\$40.00	\$1,000.00	
73 510-0011	3.00 Each	Beam Guide Rail Anchorage	\$6,000.00	\$18,000.00	\$6,000.00	\$18,000.00	\$4,500.00	\$13,500.00	
74 510-0018	1.00 Each	Tangent Guide Rail Terminal	\$9,000.00	\$9,000.00	\$9,500.00	\$9,500.00	\$7,500.00	\$7,500.00	
75 510-0031	600.00 L.F.	Removal of Beam Guide Rail	\$1.00	\$600.00	\$1.00	\$600.00	\$0.01	\$6.00	
76 515-0003	1.00 Each	Delineator, Type PA-W	\$30.00	\$30.00	\$125.00	\$125.00	\$120.00	\$120.00	
77 515-0005	6.00 Each	Delineator, Type GA-Y	\$150.00	\$900.00	\$150.00	\$900.00	\$120.00	\$720.00	
78 515-0006	4.00 Each	Delineator, Type PA-Y	\$125.00	\$500.00	\$125.00	\$500.00	\$120.00	\$480.00	
79 515-0007	7.00 Each	Delineator, Type GA-W	\$150.00	\$1,050.00	\$150.00	\$1,050.00	\$120.00	\$840.00	
80 517-0002	1.00 L.S.	Furnish Field Office, Type B	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	
81 517-0008		Maintain Field Office, Type B	\$4,000.00	\$80,000.00	\$5,000.00	\$100,000.00	\$2,000.00	\$40,000.00	
82 517-0013	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	
83 522-0001	12.00 Each		\$1,000.00	\$12,000.00	\$5,000.00	\$60,000.00	\$500.00	\$6,000.00	
84 523-0003	4,565.00 L.F.	Clean Existing Storm Drain, 12 in. to 24 in. Diameter	\$4.00	\$18,260.00	\$7.00	\$31,955.00	\$12.00	\$54,780.00	
85 523-0005	400.00 L.F.	Clean Existing Storm Drain, 27in to 48in Diameter	\$14.00	\$5,600.00	\$15.00	\$6,000.00	\$25.00	\$10,000.00	
86 523-0007	460.00 L.F.	Clean Existing Storm Drain, 60in to 72in Diameter	\$25.00	\$11,500.00	\$25.00	\$11,500.00	\$100.00	\$46,000.00	
87 523-N0003	370.00 L.F.	Heavy Pipe Cleaning	\$75.00	\$27,750.00	\$100.00	\$37,000.00	\$270.00	\$99,900.00	
88 532-0001	350,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	
89 532-N0015	250,000.00 USD	Force Account for Drainage Repairs (No-Bid)	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	
90 534-N0006	230.00 L.F.	74 Inch Trenchless Installation Location No. 2	\$7,000.00	\$1,610,000.00	\$5,250.00	\$1,207,500.00	\$8,000.00	\$1,840,000.00	
91 534-N0008	214.00 L.F.	74 Inch Trenchless Installation Location No. 1	\$7,000.00	\$1,498,000.00	\$5,250.00	\$1,123,500.00	\$8,000.00	\$1,712,000.00	
92 599-N0047	150,000.00 USD	Polyurethane Grout (No-Bid)	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	
	200,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	
94 703-0001	8,500.00 S.Y.	Topsoil	\$1.00	\$8,500.00	\$5.00	\$42,500.00	\$3.00	\$25,500.00	
95 704-0001	6,770.00 S.Y.	Seeding, Type A	\$1.50	\$10,155.00	\$2.00	\$13,540.00	\$1.50	\$10,155.00	
96 704-0002	870.00 S.Y.	Seeding, Type B	\$2.00	\$1,740.00	\$3.00	\$2,610.00	\$2.00	\$1,740.00	
97 704-0005	315.00 S.Y.	Seeding, Type W	\$3.50	\$1,102.50	\$4.00	\$1,260.00	\$3.00	\$945.00	
98 705-0012		Planting, Bayberry (Myrica Pennsylvania)	\$37.00	\$1,258.00	\$36.00	\$1,224.00	\$30.00	\$1,020.00	
99 705-0017		Planting, Shadbush Serviceberry (Amelanchier Canadensis)	\$37.00	\$1,221.00	\$36.00	\$1,188.00	\$30.00	\$990.00	
100 705-0019		Planting, Sycamore (Platanus Occidentalis)	\$500.00	\$500.00	\$475.00	\$475.00	\$400.00	\$400.00	
101 706-0001	825.00 S.Y.	Permanent Soil Stabilization Matting	\$5.00	\$4,125.00	\$6.00	\$4,950.00	\$4.00	\$3,300.00	
102 706-0002	800.00 S.Y.	Temporary Soil Stabilization Matting	\$4.00	\$3,200.00	\$5.00	\$4,000.00	\$3.00	\$2,400.00	
103 801-0001	1.00 L.S.	Furnishing Traffic Control Devices	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$739,769.00	\$739,769.00	
	1,905.00 L.F.		\$60.00	\$114,300.00	\$130,000.00				
104 801-0002	1,905.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$62.00			\$190,500.00	\$70.00	\$133,350.00	
105 801-0003	•	Placing and Removing Precast Concrete Construction Barrier	•	\$118,110.00	\$60.00	\$114,300.00	\$35.00	\$66,675.00	
106 801-0009	6.00 Each	Furnishing Portable Variable Message Sign Furnishing Temporary Impact Attenuator (Array), 70 MPH	\$8,000.00	\$48,000.00	\$20,000.00	\$120,000.00	\$2,500.00	\$15,000.00	
107 801-0018	4.00 Each		\$6,800.00	\$27,200.00	\$40,000.00	\$160,000.00	\$4,500.00	\$18,000.00	
108 801-0019	4.00 Each	Placing and Removing Temporary Impact Attenuator (Array), 70 MPH	\$2,800.00	\$11,200.00	\$50,000.00	\$200,000.00	\$3,000.00	\$12,000.00	
109 801-0020	20.00 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$2,600.00	\$52,000.00	\$10,000.00	\$200,000.00	\$500.00	\$10,000.00	
110 801-0021	5.00 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$340.00	\$1,700.00	\$12,000.00	\$60,000.00	\$10,000.00	\$50,000.00	
111 801-0022	5.00 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$705.00	\$3,525.00	\$30,000.00	\$150,000.00	\$4,000.00	\$20,000.00	
112 801-0023	4.00 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$1,045.00	\$4,180.00	\$6,000.00	\$24,000.00	\$1,000.00	\$4,000.00	
113 803-0032	40,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
114 803-N0001	1.00 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$6,000.00	\$6,000.00	\$400,000.00	\$400,000.00	\$150,000.00	\$150,000.00	
115 705-0306	150.00 M.G.	Watering for Planting	\$120.00	\$18,000.00	\$100.00	\$15,000.00	\$100.00	\$15,000.00	
				\$8,844,206.50		\$10,425,000.00		\$11,866,000.00	